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Question Number : 1 Question Id : 716447301 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The amount of cash or cash equivalents which the company receives or gives out by the way of payments to creditors is

known as

Soeacréderdy TOoHE 507 L0DR OHHT B BOOT SHRD B ABLEL DSTSTS
BTV e00e%.

Options:
turnover

1. « 2856



sales

7 % @D

fund flow

3 o= ;‘395%&

cash flow

4o TRY

Question Number : 2 Question Id : 716447302 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a finance function?

§08 ¢35 IO DD K DoRO0A0DH VG 5°¢N?

Options:
Investment decision

1 = P& dQado

Financing decision

9 & DOWI0H AFaho

Dividend decision

3 x AITOG AQOWO

Sales forecasting

4. v SIS WO’

Question Number : 3 Question Id : 716447303 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
What does the term YTM stand for?

YTM &5 Dcso dBg), Jrf ar@do D0e?

Options:
Yield-to-Maximization

1 x QUrQ-en-85rsERBAS

Year-to-Maturity

7 x QOO ROV vl taton

Yield-to-Minimization

7y QrQ-E0-0JFEAS

Yield-to-Maturity

4. o 0D -e0-Rchrs0es

Question Number : 4 Question Id : 716447304 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The proportion of earnings paid out as dividends to shareholders, typically expressed as a percentage of the company's

earnings. is called

Srercrden (8 ) So BNBoT TOOT SEroire ANNSB, A SER0T 0300
05T 2.8 TS0 $5588015200008. A OEFX.

Options:
payout ratio

1 » B0 NS (DTE BA)

outgoing ratio

7 % L& Fonoh Bao3r



disbursement ratio

3 % D0DES AN (B)BR0E BI)

income ratio

4 x 0D AN (BS $S Bad3r)

Question Number : 5 Question Id : 716447305 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms best defines the process of evaluating investments and huge expenses in order to obtain

the best returns on investment?

EPED 5% T B SFOATERE 2ER2EN SHBAM 278 S5A5FeI) OTITT B DGR, &
1808 HTOES” DD GHOT JE LT 00?

Options:

Investment budgeting

1 % VSIS0 253¢300

Assets budgeting

7w R FE0N

Capital budgeting

3 v TIOO 2FE30N

Wealth budgeting

4 x 39O B30k

Question Number : 6 Question Id : 716447306 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a type of debt instrument unsecured by collateral?

& 308 765" DO 9L DD Cared s AP0 ?



Options:
Mortgage

1 x 5 (SrPies)

Angel fund

2 x 0ZO Dok

Debenture

9, Seadiss (BBobd)

Hedge fund

4. = R N0k

Question Number : 7 Question Id : 716447307 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is not a Leverage Ratio?

806 e3¢5 DO HBHSB DAID (DTS BATT) 5°¢0?
Options:

Debt ratio

1 = 60 A1) (BFYH BAXI)

Debt equity ratio

9 x B G:85e3 T

Capital employed to net worth ratio

7 % Q5 Densd ANV GHBTHODS Srexiddo



Quick ratio

1 » 855 B>

Question Number : 8 Question Id : 716447308 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The equity available to common shareholders divided by the number of outstanding shares is called

eSS 08 e 00dveTend’ grdy &8 5630 w5eom D (TE o0l D) Howss

2RO ST )T @0,
Options:
present value of equity per share

1 x DS D& 568 563 TBNEY DWeh Desd

future value of equity per share

7w 0B 0 &8 5¢3 Twy BN Deas

past value of equity per share

3k 08 B0 a8 5e3 Ty Hed Desd

book value of equity per share

4 v D8 2H% &8 c63 3E) HVE Dend

Question Number : 9 Question Id : 716447309 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Funds that have been set aside for special purposes or to cover contingencies are called

D858 | HTBramre FHo Brre @88 HOVAD §50 DAL TEFANOTID AGDE

e0tT.
Options:



reserves

1. v VOS50 (62355))

capital

7y SO0 (FEED)

assets

3. % escen (e9ED))

liabilities

4 % ONIED (©HDDEED)

Question Number : 10 Question Id : 716447310 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms best defines the value of any tangible property and property rights owned by a company

less any reserves set aside for depreciation?

550050 D0 TEron0DGES D 5e0 8025 ) $0R BnE) EADOTL 3R HASHH e

55020 DeNsddd G (8o o) D0 o VB SN0H?
Options:

Capital

1 % TR0 (F5ED)

Assets

9, esiven (9VE))

Wet worth

3k DES e (BES £0)



Total value

4 x I0B0 Dewsd

Question Number : 11 Question Id : 716447311 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which term best defines a product offered by banks and credit unions that offers an interest rate premium in exchange

for the customer agreeing to leave a lump-sum deposit untouched for a predetermined period?

EDe0B S0 oMo erdE 2.8 FnBoS GarRe] T8 @ohEB0oTHEE 2C0ENT S&
B (DDOHOD OB 2570%0e0 SO K9 HOHTEN OB Gred)B(ISrHE)R & HAo

& B0T DB IDD0A?
Options:

Bond
1. & erob

Letter of credit

9 & BB es 3RO

Certificate of deposit

9, SOOI e GBS

Mutual fund

4 & 0E0SO HOG

Question Number : 12 Question Id : 716447312 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following increases after the repurchase of the company's share from the market?

3780 0BG 0 Ter (D) BBA Foioffen TS dusTes 808 ¢3S DO XMeh0d?

Options:



Profitability of the company

1 x S0 By eraSrraidses

Earnings per share of the company

7 o S0 By D ey T3, errairen

Market share of the company

3 % S0 TEY SrBrE e

Company’s capital reserve

4 x 0D TwE; Sureddd des

Question Number : 13 Question Id : 716447313 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT proposed by the Modigliani and Miller (MM) Approach of capital structure?

& 300 TS DEHOIPD aBoIL G (MM) S0 oo Gs), J ITFFD) DATrdT?

Options:

1. =

Valuation of a firm is irrelevant to the capital structure of a company.

E0200) gy rrers0880 0 BE e AT 1eE Ho2050 BIE.

2. %

The market value of a firm is affected by its operating income, apart from the risk involved in the investment.

2,8 8000 TBE} SrBE) Dewsd DERG DB s5racS’ G5 SNOS e, 7R A 557 eraHoD
|02 €850 0 8.



In perfect capital markets there are no taxes and transaction costs.

q M8 GO DG 20°0), 06" DAY 0 BT PTED H{OITLD Eola.

4 v

A judicious mix of debt and equity affects the value of a firm.

220690 sDBCID 68 563 TRNEY LR Fo0 E0VR DI |2TNS0 TRNOE.

Question Number : 14 Question Id : 716447314 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

An organisation that acts on behalf of another person or persons to manage the assets is called a

08E 5:8 B 5800 830 B8O A 5Er0NERE HAT R DO e00eTX.
Options:

partner
1 = &S

fiduciary

agA

9 o VT IODY OO

limited liability partner

3 % DO 2358 ety 5o (DTG ©AHNDE PI0)

proprietor

4 = EFOOND

Question Number : 15 Question Id : 716447315 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What does SWM in financial management stand for?

es0% D6¢reees” SWM B3 2aedod?

Options:



Shareholders® Wealth Maximisation

1 » 20 305 IO SriBAs

Stockiest Wealth Maximisation

9 % VS0HP IO SrIPBEAS

Shareholders® Wealth Moderation

3 & 20 DUPE) IO IrWOAS

Shareholders® Wealth Metallisation

4 x 20 DU5) IO DOBBAS

Question Number : 16 Question Id : 716447316 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
states that the potential return rises with an increase in risk; using this principle. individuals associate low

levels of uncertainty with low potential returns, and high levels of uncertainty or risk with high potential returns.

82 DEDBOE H0erds Tt (FBVCHO 85 ) B0 DEL0EN0E. S
QrErd)), GHRTROD), H530en 8078 TR0 @B 550)d FRDCHO TGS, DB edd
PO @AZIBA B 80500 @5 FBAAHO T2AES SendHm&.

Options:
Profit-return tradeoft

1 » @& 885 D& &

Risk-return tradeoff

3 o Oy 865 (D& esD



Profit-maximisation tradeoff

3 & @O SEIS (DS esD

Wealth-maximisation tradeoff

4 % DO STIDEIS DB e

Question Number : 17 Question Id : 716447317 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What is the full form of EBITDA?

EBITDA 0308); 2P drao Qa0 ?

Options:
Earnings Before Interest, Tax, Depreciation and Amortisation

1 » 982003 DB Q0TY, 75, A DATDAS @085 ORFFTEAS

Earnings Before Income Tax, Depreciation and Amortisation

9 982003 DB AT £ €75, B(DVTDHAS @0&% SFTPEAS

Earnings Before Interest, Tax, Devaluation and Amortisation

3 % 20800 DT R0V, €r5), & eN;EHAS W08 OITFPRAS

Earnings Before Interest, Tax, Discount and Amortisation

4 x 208200) 2P0 203Y, €5°5,), 308 ©90H oFrBEIS

Question Number : 18 Question Id : 716447318 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following formulas best describes PE ratio?

& S0 wrred” J Argo PE Jndd) &ganor Dddmuos?

Options:



Profit per share +~ Market value per share

1 % @D HB Wb + Tl ey HB b

Dividend per share + Earnings per share

9 % GABOG HB B + 800 DT D

Market value per share + Earnings per share

3 o 0 ey OO 28 + D800 DB b

Market value per share + Dividend per share

4 % 08 ey HB b + AATok D6 Wb

Question Number : 19 Question Id : 716447319 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What is the name of an accounting technique used to periodically lower the book value of a loan or intangible asset over

a set period of time?

D8 o> 5330S 20890 TINEY HVE Dencdedd B DS el |ESTisorT slotdmds

5030 E @F0e30f B8 T B Dabe3?
Options:
Depreciation

1 x ODATHHS

Written down value

7 % O T TS

Devaluation

3« &mw&oﬁaﬁé{wﬁbm%ao}



Amortisation

4 v R PEAS (G069 ITLI)

Question Number : 20 Question Id : 716447320 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

If the dividends are to be paid within one year, then this liability is classified as a/an

BATBOGD 2.8 0051505 BOowTE) oD, €953 )¢0 &8 ANDOES (€95))) 2.5 ™
SOEB02BS0E.
Options:

non-current liability

1. % 5S-E508 cHDOES

contingent liability

7 & OIS ©Y) (©0HDOE3)

accrued cXpense

3 & 208 S5O

current liability

4. v $808 DOl

Question Number : 21 Question Id : 716447321 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
A systematic review of the production, purchasing, and product design processes to reduce overall product costs is best

described by which of the following terms?
VGO EAD DOV BHODTTIS GAD, Fien BOTL & ArdSUND HIoHe g ESVATAT VN DL, &

306 2 Do P(O° &SR0T DDO03IE0E?

Options:



Worth analysis

1. % S0 HTOID

Significance analysis

7 % PAIDED) BT OV

Value analysis

3 ¢ TUOTOT OV

Rate analysis

4. % D8 9o

Question Number : 22 Question Id : 716447322 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following information is NOT obtained from the Comparative Income Statement?

0775 % TS (HEEIS ($05TBE3S A S REND0ET) 0B & 1508 ¢3S DA Fodhecsn?
Options:
Gross profit

1 = Yo ergo

Operating profit

2 x OS5 erglo

Net profit

3 % 88 erdio



Future profit

A v 23odorfed eei0

Question Number : 23 Question Id : 716447323 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a tool/technique of financial statement analysis?

§08 e3¢5 DO 388 ATHE DFea TBNEY B0 [ HRS 52¢%?

Options:
Common size statement

1 = e HOSre ADOE

Trend ratios or trend analysis

9 x 83 A Hen B 863 300 (0% TATHD B (BO& W)

Comprehensive analysis

3 o O DINeD

Statement of changes in working capital

4 % O S0 (58500 5 S)S” S5 e ASEE

Question Number : 24 Question Id : 716447324 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

deals with detailed sources and application of funds of the business concern for a specific period.

2.8 QBN 577N el 9835780 TBNEY IBETEHE SN DGIN e ABLY (FTID

S08050 DTN e HoBY)E SE3TON0A.
Options:
Ratio analysis

1 » B JFAeD (BATr ©TOID)



Cost volume profit analysis

9 % 5Q T (DE 3D

Cash flow analysis

3« 575 8 O

Fund flow analysis

4 v H0E & TOVR

Question Number : 25 Question Id : 716447325 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following statements/analyses deal with the comparison of different items of the profit and loss account

and the balance sheet of two or more periods?

&5 1808 |HEErden [ D3NS |T7HE @0& erm T 06 TBE) VDS ©oF=ew HBAN Bodk Sor

90550T) DB0LS 553¢0 2B A > 1B0E P58 8roN?
Options:
Comparative statement

1 » 30r0e3S VTR0

Common size statement

7 % SIS D Y0d

Trend ratios or Trend analysis

7 x (R0& BARrD S (B0G OTOID

Average analysis

4w Qe DFnes



Question Number : 26 Question Id : 716447326 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the technique used for developing a meaningful relationship between individual items (or group of items) in the

balance sheet or profit and loss account?

27 BS) D B (DS @0& er®d WER0E SR 58K eoFmen (B @076 HTT0) 0¢ds

29050853065 DODOTTRY, @ENYID TONERNE CrNAFAOTT DR DE3?
Options:

Ratio analysis

1. v TSy @To®

Cost volume profit analysis

9 g SR TN (D) T OV

Cash flow analysis

3« 575 & oD

Fund flow analysis

A % 20& & T OVD

Question Number : 27 Question Id : 716447327 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT the main liquidity ratio for a business?

1808 735" DA garS0o FH0 (DTS (5655 A (D8 55¢3 TATBr) 5°¢0?
Options:

Quick ratio

1 x 855325



Current ratio

7y 5806 A

Net working capital

3 5 Q5 DA reRdS0 (FE 58300 5°56O)

Fixed charge coverage ratio

1 o D60 ESTE D58

Question Number : 28 Question Id : 716447328 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

is the change in price of a share for a change in the return on the market as a whole.

DA VS0 580 TrGS” 5t £H0 B SES STEo).
Options:
Systematic Risk

1 o DPS:ESS 82y

Unsystematic Risk

9 & ©IVYNTET 8D

Gamma

3 % T
Alpha

4 s 8

Question Number : 29 Question Id : 716447329 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following is one of the main operating efficiency ratios?

B0 &3S A& 1D B 5570 o0Ps AEeres 2. 5e3?
Options:
Fixed charge coverage ratio

1« D850 858 D)

Ill"v'EIltDl'}’ turnover

9 o BVF0LB &858

Debt to EBITDA

3. % EBITDA & axeso

Interest coverage

4« WOLDD ESTS

Question Number : 30 Question Id : 716447330 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following analysis is an expression of the amount of financial statement items as percentages of the

statement total?

808 BN (©TOIN) O DTVCHS V0L TR (630% ABEHE @oFew)e T, o

V08 ), TEenm S 5888 DE?
Options:
Horizontal analysis

1. % 582308D T VD

Trend analysis

7 x (D06 OTOIR



Vertical analysis

3 v QIO T OV

Ratio analysis

A % Daddr @oronm

Question Number : 31 Question Id : 716447331 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Select the technique used to decompose the different drivers of return on equity (ROE), into three major factors.

&3¢ (ROE) 8006y © 03208, DB EOGR S0 PR SOS 0T DEHODEIS Do) JFoSB8a:)

Do od.
Options:
Liquidity analysis

1. % 5938 DFNed (DE3BES 0TreRR)

Profitability analysis

2« TETOHES DN (FHODOES o)

DuPont analysis

3 v m@vceﬁ 9T

Comparative analysis

4, x HOTSE DFie (S07VES 0T oRR)

Question Number : 32 Question Id : 716447332 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Net Operating Profit After Tax (NOPAT) is equal to

DAY BOES DEC DOGEFEs 7250 (DES e5DTE0H 85 526 er55y) (NOPAT) &) DETEH0.

Options:



PAT plus after tax interest

1 » PAT 00 e6 eng8y @003 (94)

PBIT minus interest

9 % DD DD QoY (DE)

GP minus operating expenses minus depreciation

GP 208570 DOGTIPes 30 e ECDGe)
KK & S Shad=

Sales minus the cost of goods sold

1 = £9330] S5°R0 DDA )R DR 6I[0300

Question Number : 33 Question Id : 716447333 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3

Correct Marks: 2 Wrong Marks: 0.66

Which of the following transactions does NOT affect the working capital in fund flow analysis?

NG & 0TV S8 1808 rTBIOS IO DA S STRY, 1D2rNS0 TADEN?

Options:

1. =

Transaction involving one aspect of current asset and other of capital

506 @06 BwE) 2.8 9030 BN DFEAN0 TBEy HEE 0308 Erdd erarie

2. %

Transaction involving one aspect of current liability and other of fixed liability

£5063 ©chHDOE3 B), 2.8 @0F0 HBGE VE (DF),) ©cHDOES B, HEE eodo EDRS

eFT 0



3. v

Transaction involving one aspect of fixed asset and other of fixed liability

D& €3 (D5, e5E]) TWEy 2.8 @030 HACSW DE (DE.),) ©0HDE; By, SHEE e90%0 EORD
e T30

4. =

Transaction involving one aspect of current liability and other of fixed asset

€806 ©cHDOE} g 2.8 @0F0 SNBSS VS e (DHE), eET) By, 8% ewodo EORS
VT

Question Number : 34 Question Id : 716447334 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The formula for interest coverage ratio is

DG 8005 D} (@00 E58E Baroirr) cins), Wrgo

Options:
PAT -+ Interest revenue

PAT + &6 esoraioo
1 b =3

EBIT ~ Interest expense

3 EBIT +s:}§ j00

EBT ~ Interest expense

7 % EBT = 5:@ &§0500

EBTD =+ Interest revenue

4 % EBTD + ait(c;} esTP0I00

Question Number : 35 Question Id : 716447335 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following is NOT an application of the technique of marginal costing?

808 ¢3S’ DA Crarods 55000 (SIS 5°R) TE) AroSDES ) @GN0 (9TAS) 57¢0?
Options:
Forecasting of future sales, revenue and profit

1. v 2300005 E9oNISPE), TrCh aB O eFere) GoTdT

Fixation of selling price

9w @08 S Iy POESea

Maintaining a desired level of profit

3k SHOVS €727 FTONA AB0IS0

Accepting of price less than the total cost

4 x D000 djao 063 BEY) & GO oHisboicio

Question Number : 36 Question Id : 716447336 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following ratios equals the market value of a company divided by its book value?

1B0S BATFOS” DA 020 5578763 Denssedd TR Y& Dewsd B erRoDSTIE HX580?
Options:
Leverage ratio

1 x DEHB 0B (O3B Ta/)

Capital and asset ratio

2. x STOHH0 HOCH e IS (S5O ©08 &3 THT)



Actual market value ratio

7 % VI SrBED Desd A (e850355O 53788 ey Badsr)

Market to book financial ratio

4. o B 50 HOF 308 AN)S (5rByed e 208 DIIAHS Badr)

Question Number : 37 Question Id : 716447337 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following financial ratios is used to measure the proportion of owners’ investment used to finance the

assets of the company and for indicating the proportion of owners’ funds to total funds invested in the business?

HOP TE; esknerdd 388 HIFAHO DOHETAE SHBAN GH23HTIE A DAV Ssardoe’
2EP0E DS BBo AEeE HrDoBERE & 180 308 Ao &

Er03rioi2dciedo?
Options:
Leverage ratio

1 % DEIB NS (D585 TR

Equity ratio

5 o S8 BATr

Valuation ratio

3 x JENODAS BT

Quick asset ratio

4. % S50 e DN)S (855 D BT

Question Number : 38 Question Id : 716447338 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The quantity of a well-defined good or service that people are willing and able to purchase during a particular period is

called ;

2.8 DO 5550" 2,8 3PN B> DS By DBRTETR), 1Desen Fedffer BAHEOT SHBA5»

Foffen BOHERE SANDOTT HOT 7)) e0eETX.
Options:
demand

1 v G3r0&

consumption

7 % DATFNO

consumerisation

3 & S50 BBAS

market response

4 % 00 (DSOS

Question Number : 39 Question Id : 716447339 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A graph showing the relationship between the price of a certain item and what consumers are willing to buy at that price

is called

2,8 DB 556059 Ty B 0BA5M €8 A S FIENE DATFHT B> Dddwwed 08 E5ed)
DODOLTRY, TR0 [T e9OETX.
Options:

supply curve

Do HETD (DD 555)

1. =



price curve

) . 8353 (R L)

demand curve

3 » Qdro& 555

rgsource curve

4 x S8 H 80 (BB, 36.5)

Question Number : 40 Question Id : 716447340 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The cost which varies with output is called

29537635085 (e@hmga)ﬁ” FRAY) AFOS0DY DOy 908370,

Options:
variable cost

1 v wbooened(3d) faso

fixed cost

I % ?gcﬁ &30

intangible cost

3 = EDED Eﬁéﬂ‘i&o

inconsistent cost

eIz oo
4], & D00

Question Number : 41 Question Id : 716447341 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Rental, insurance, depreciation, set-up costs come under which of the following categories?

93, DAF, BHOMCEL, DOD H{OITD S 308 TES° DB 3065 HF0n?

Options:
Variable cost

1. = wbaoioeines(nd) nifently

Fixed cost

I %}m 250300

Intangible cost

3 x SCEED ﬁéﬂi}[ﬁ

Inconsistent cost

egtade oo
4 = o= 3

Question Number : 42 Question Id : 716447342 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The cost incurred for producing one exira unit of output is called

208 @933y 0TS &@“:Jc:’}r‘b(ﬁﬁ a0e5) &0 G688 DALEDS 9 DOy e90eTPCD.

Options:
bordering cost

1. = ﬂjﬂgﬁoﬁ a){ 000

borderline cost

2 % ergo G ot



fringe cost

3 % 20& HyoWo

marginal cost

4 v Earoes Sgo%0

Question Number : 43 Question Id : 716447343 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms explains the situation where there are many sellers but they are selling heterogeneous

(dissimilar) goods, as opposed to the perfect competitive market scenario?

e 008 D Fehen DD IS SONEINS $585E (HeTDE8 DGO Jereda (€9855)

30690305 DFONOT HEVBR), €2 1808 DA DSBN0B?
Options:
Perfect competition

1 = NIere) e oed

Defective competition

9k SDErongepgd) IO

Imperfect competition

3 ISTEe) e e

Deficient competition

4. % G000

Question Number : 44 Question Id : 716447344 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following terms means the measure of the change in the quantity demanded or purchase of a product in

relation to its price change?

AIT0G TR HBST0S drdy) gy Fordd S o7 8 ¥ S8 D000 &3 SN
0N’ &5, 881808 3 B JSrdNoH?

Options:
Price elasticity of demand

1 o BST08 Ty &8 DETHES

Price inelasticity of demand

0.« GETOL TING S8 VBT HES

Price bounciness of demand

3 x Qaro& By QY 23N

Cost elasticity of demand

4 x Garol 038, Hj00 ?D:.@gﬂ;}g@

Question Number : 45 Question Id : 716447345 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
An asset that can be converted into cash in a short time, with little or no loss in value is called a/an

58025 A0 B Q0 BEO, 8025 HHAHOET KT &80 &), 2.8 E90EF.
Options:
operating asset

1 x ©00e300 &V ()

non-operating asset

9 g TO-SDDE30N E] (e3)



intangible asset

3 x S0DED &E (e3R)

liquid asset

41 v 9858 e (s0)

Question Number : 46 Question Id : 716447346 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which term describes a market structure where competition is at its greatest possible level?

503N @chsHE ¢ oS ) S38€5 ATmETRY. @ HA0 DSEN0E?
Options:
Perfect competition

1 v SIe) e Y6y

Defective competition

9k SDErongepgd) IO

Imperfect competition

3 « ISTEe) e e

Deficient competition

4. % AdD00D0S T

Question Number : 47 Question Id : 716447347 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Marginal costs are derived exclusively from

€708 HIOTFeD &0l PAgSoTT S0 peow.

Options:



marginal cost

1 = Earoes Sgo%0

variable cost

2 . 0 535{1‘_'130

differential cost

3 % e9s05e)8 ifestl (&80 57)

peripheral cost

4 % 2DBHOD 000 (DEDOS =°Y)

Question Number : 48 Question Id : 716447348 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following terms best defines an examination of the additional benefits of activity when compared with the

additional costs of that activity?

€5 SPOP(CS0ED O308); 9D 6:3?50:&)“@65' ﬁ@aa@hm, & 806 Do’ O SPOPEI0ER OO0E); 9K DOITRTOM

20T D20 EdavorT DEDR0D?

Options:
Peripheral analysis

1 » DOHAD N (DODES OTOI)

Marginal analysis

9 o Garos DN (@SS @redR)



Fringe analysis

3 % (208 T OV

Bordering analysis

4 » 2000 T OIV

Question Number : 49 Question Id : 716447349 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A situation in which the demand curve is a horizontal line instead of the usual downward-sloping demand curve is

called

Q5508 S| K0 erde ONS-aT 0T €5ad) (3edr0& o5(Eed80 2xchoentr § 323 Hadroedd T )
HOVE 90ETED.
Options:

perfectly inelastic

1 x Q0FQ VBT HESH

perfectly elastic

inelastic

3 . SDBTHES

unitary elastic

4 x OB JerS (DBY L)

Question Number : 50 Question Id : 716447350 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following is an accounting practice in which, instead of having a huge lump-sum expense in the year that

the purchase is made, a fraction of the cost is charged to expenses for each vear of the asset’s lifetime?

1808 e3¢5, & Tedhifen TS D05 )80 .38 238 FtoS &) DEERE 3¢venT,
230 2BDS50Y 1D D05 IB0 e TR0 DeedentT SHren B @030l eersdo
DE?
Options:

Downgrading expense accounting method

1 » TS BAON 25) DS 30300 DHE

Decrease expense accounting method

7 x GEE I5) DS) @F0e30l &

Reduction expense accounting method

7 x BGES I5) D) @80t3oh &

Depreciation expense accounting method

4 v GRADAS I5) DY @F0¢300 DG

Question Number : 51 Question Id : 716447351 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms best defines the price of a commodity at which the quantity that buyers wish to buy equals

the quantity that sellers wish to sell?

Feofentrden Forerddgom H8:57008), @508007%eN @858 DONTE0 DAFS0

@003 S50 TB0EY BED 1808 7¢365” DB GBS0 A ;DWV0H?
Options:
Equilibrium price

1. v VDSOS



Balance price

9w EBSY S

Two-part price

3 = Vel ale

Equipoise price

4 » 85800 OO

Question Number : 52 Question Id : 716447352 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
are goods for which people’s preference for buying them increases as a direct function of their price, since

greater price confers greater status; as the price gets higher, demand rises.

Teoifen TADERE (223D (25553 tITDOTIC0 9D T°¢3 O (56958 (D00 8T s5edsye

. DOEOD) DELS BE DE0S VB BTFDN0A 579 B8 DEATD BSTos DDA,
Options:

White goods

1. = SO &)

Durable goods

9 & 20D Sti) DD (rbné;}}

Veblen goods

3. o SBS 5 (o)

Giffen goods

4. % TS 876 (Shew)



Question Number : 53 Question Id : 716447353 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms best defines a situation when demand for a factor of production or intermediate good

occurs as a result of the demand for another intermediate or final good?

S8 20€3850HE Sz A WD) 80 GXTos DOSOT, teh 18 Bwé), s8%0 S
203835053 58068 §0 G508 DB IEBSY I 808 ¢3S IO &3 HEVBA &S0

G 5DVOE?
Options:
Derived demand

1 v SIS (BDP) G0l

Long-term demand

7 x OO &Srob

Autonomous demand

7 x DIONODBIS (EradID) Gairod

Short-run demand

4 & 050508 &0l

Question Number : 54 Question Id : 716447354 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms explains the situation in which. as a person consumes an item or a product, the satisfaction

or utility that they derive from the product wanes as they consume more and more of that product?

2.8 558 2.8 3809 B b IBR DATIHOTEIN I, & Ered 1 0 FOdS Doy S
a50e30e3 (DATJrK0), €8 55 I8 VBT DATBFHOTENY I § 5008, A 180 JHeres A&

SN0 D?
Options:



Diminishing bordering utility

1 % GDANON erPBof Aine3es

Shrinking marginal utility

7 x R0SOM SrQ5S Ane3OE3

Diminishing marginal utility

3 o A0D0H eSS axdd (233700 HAIrado)

Diminishing marginal value

4 x ADN0H AFGHS arerey(ESos Dend)

Question Number : 55 Question Id : 716447355 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The Organization of Petroleum-Exporting Countries (OPEC) is the best-known example of

SEREND 3D D Dobo — I8y T*Boh SoBD (OPEC) e9db &) 2,8 BN GO,

Options:
Consortium

1. = SoaQaho

Monopoly

7« Déﬁﬂsmﬁo

Cartel

3 v 50O



Conglomerate

4 % NS0 (soffended)

Question Number : 56 Question Id : 716447356 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The marketing strategy of identifying variance in demand, and aligning pricing strategies to maximising profits is called

Garoll aFQ% (80D HBOIN BOTN GPEPOR VOSTTIS GOV JPFIFOM Iy S0°0)Bof PP

90877,
Options:
profit management

1 = 8 Q855

income mana gement

7 x STOD QS5

yield management

3 o 00red (Des) DOETes

revenue management

4 “ E?_ushﬁ?g :,}tig::rvsa

Question Number : 57 Question Id : 716447357 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The sum total of all external and internal factors that can, directly and indirectly, influence a business is called

TEITR)), (Db S O 8GN HEE O (DerNho T @), 23ers 8w 00l E5me) BT

e00er .
Options:



business environment

1 v T5rd SO

business background

9 & 5 VOGSO

business climate

3 & IO Erddeao

business macroclimate

4 x T5rd PFoOTTESEe0

Question Number : 58 Question Id : 716447358 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

‘More than half of India's population is under 25 years old’, is an example of which the following business

environments?

23854 S DTS T 25 IFES'SY &Y', 0D S8 1808 &) tard TeErSSeTrerdy Grorde?
Options:
Demographic environment

1. v &0°2r IerI80

Socio-cultural environment

9 & rBE-I00) Y8 FEHGE0

Economic environment

3 % 998 oEddno



Political environment

A % T80 Trersdeo

Question Number : 59 Question Id : 716447359 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A set of beliefs, customs, practices and behaviour that exists within a population is called

2250727 €585) 50 ITTED, eTTTTEY, @rare Bk 10585 HWED OO,
Options:
demographic environment

1. % B IS0

socio-cultural environnient

9y TrBE-00) )88 TRHOR0

eCconomic environment

3 x 898 sEddeno

political environment

A % T80 grErssdeao

Question Number : 60 Question Id : 716447360 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following are the external factors studied in the SWOT analysis?

SWOT errond (D3he)e° €935 01000 LHONIER EPT) SO~ g 1

Options:
Threats and Weakness

1 % BOBOYE BN TS



Opportunities and Threats

7 o BITFEN O BABOHEW

Opportunities and Strengths

3 % ©05FEN 8GN werew

Threats and Opportunities

4.« BOB0HN HBC 955573

Question Number : 61 Question Id : 716447361 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Government actions or changes in the business laws, which may directly or indirectly affect the operations of a

company or business is called

2.8 HoX B agardo MWy stE8erarercd (Db o B HEE O (Herdeho T, (Deeh S
58500 Bz 55 rE Ao S R Srdd e e00ETHD.

Options:
demographic environment

1. % B0 TTIOL0

socio cultural environment

9 g B Ao )e8 TEHG0

economic environment

3y @898 FEddn0

political legal environment

4 v DOIERS T80 TErSSeao



Question Number : 62 Question Id : 716447362 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is the only global international organisation dealing with the rules of trade between nations?

180® 73S DO Baed 05 Te3ess ATHSTOE $555:F80T JBE 1HH0TH 0ST D Hod?
Options:
Global Trade Organization

1 = e B8 esgdnd

World Trade Organization

3 Doy reha ‘&}o‘g( 0P GE BEIIND)

Worldwide Trade Organization

9 . O0FDE BE oGRS

World Business Organization

A % OOF DEDD gRELS

Question Number : 63 Question Id : 716447363 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following terms describes a process of opening up of any country’s economic system and its integration

among the other economies of the world?

DB B3 €308 S50 [TB0E0T (BT SHBAIN [HDDOOS R @b e30% 55580 1858 7
V8B 1808 HTeeS A VSB8V0E?

Options:
Globalisation

1 v 02883



Liberalisation

2. x OEDEEe

Integration

3 % DODEC0(ReAFID)

Networking

A x ®O5GONH

Question Number : 64 Question Id : 716447364 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The Industrial Policy Resolution of 1956 was based on which of the models?

1956 oxog), FOFT0E DD éU"é}r‘f}D 2 DA eSTTECDNE0H?

Options:
Dixit Model

1 « BESErGS

Kaushik Model

9 % TIErBO

Mahalanobis Model

3. ¢ DTFOSDD IO

Bhalla Model

4. = ARSI eI

Question Number : 65 Question Id : 716447365 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The disinvestment process of PSUs in India began in the year:

POSE30e5” PSU © 280eacHHe) eD00EE 30N JPE0RORD Doadeydo:

Options:
1992-93

1 = 1992-93

1973-74

2 % 1973-74

1966-67

3 % 1966-67

1991-92

4. » 1991-92

Question Number : 66 Question Id : 716447366 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following PSUs has NOT been disinvested by the Government of India?

808 QOEIER ) donoiw (PSU) exs® o DEDEL0 DEVLIEID DT ?

Options:
Bharat Aluminium Company Ltd.

1 % 28 0TBACH0 0D DWBE.

CMC Ltd.

2 % CMC ONBE.



Hindustan Zinc Litd.

3 % orotOVS 205 OD&.

Bharat Electronics Ltd.

4. v TS JOFVEY Db

Question Number : 67 Question Id : 716447367 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the full form of AISAM, which has approved 100% sale of the stake of the Government of India in Air India?

DoNE ROBAITE’ 2386 1206 § T 100% JE0N0BFTIE SRTFE0DS AISAM By, 8

&0 Daoe3?
Options:
Alr India Specific Avenue Mechanism

1 x 205 AT DIVNF &S8rg RSB0

Air India Special Alternative Mechanism

2 x 2000 YORAr 22O e30T) 38 D520

Alir India Specific Alternative Mechanism

7 D0owD O0AAT DYVVF 948 BS R0

Alir India Specific Alternative Machinery

4 x Q0N YOAAST DYIVNE BT E3S Fosd

Question Number : 68 Question Id : 716447368 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The Department of Investment and Public Asset Management (DIPAM) functions under which Ministry of the

Government of India?

ciavgéoeﬁ 35 rmggéoeﬁ 290l DDE 065 2oDFL 085 (DIPAM), 2160 H2DE0 0308 J SDoBS] T S0

DADZ006?
Options:
Ministry of Industry and Commerce

1 % DOE0e HOAW redess HOoEdd s TR

Ministry of External Affairs

7y VOF0H DHO|BSS TR

Ministry of Finance

3 o 808 DB TR

Ministry of Consumer Affairs

4 % DVHTEO 5535°0°0> 0|35 S T

Question Number : 69 Question Id : 716447369 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who was the first disinvestment minister of India?

2SS THS) BCES LYY D0 DO DSE?
Options:
Armn Shourie

1. v @S srd

Pivush Goyal

7 % DO FoS



P Chidambaram

3 % dSo280

Pranab Mukherjee

4 x 08D Snpd

Question Number : 70 Question Id : 716447370 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What is the full form of GATT, which was later replaced by the World Trade Organization (WTQO)?

BOTA 570085 DD TPedey 2o (WTO) B8 S5 GATT B8, 3378 drdo dDd?

Options:
Global Agreement on Tariffs and Trade

1 » 025 R0 e erdD) @0k (&

General Agreement on Tariffs and Trade

7 o 8BS BRSO sS Erdp) @ok D&

Generic Agreement on Tariffs and Trade

7 x BI0F AR08 6 Erdd) ok (D&

General Arrangement on Tariffs and Trade

4 x B98O @80BRos &S 78D ok (Db

Question Number : 71 Question Id : 716447371 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

How many nations have signed the WTO agreement till 29 July 20167

29 2573 2016 3550 WTO 2,080 Q) D°en H0etE0 TF°om?

Options:



166

165

Question Number : 72 Question Id : 716447372 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following agreements plays a crifical role in facilitating trade in knowledge and creativity, in resolving

trade disputes over intellectual property, and in assuring WTO members the latitude to achieve their domestic

objectives?

50 BN DyesiredEeseS a3, eEIBB0 DANGOY, E HOHNEBD Te3e3E DT
HBNLB0THB0S’ 08CH0 WTO 25050550 778 BIAH OTL 0TS 55350 &

2555065’ &5 (808 2,00 oS’ DO §d 2 (s MTNAN0E?
Options:

Comprehensive Economic Cooperation Agreement

1 % 0 88 58 2,50)080

Asia-Pacific Economic Cooperation

9 % SRA-HIDE @8 HFsdo



Free Trade Agreement

3 & GG Iedeg 20080

TRIPS Agreement

4. v TRIPS 2,500

Question Number : 73 Question Id : 716447373 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When did India become a WTO member?

2SS0 DI WTO 525565 0 e3enBo0d?

Options:
1 January 1995

1. ¢ 12550 1995

26 January 1999

Y % 26 2500 1999

1 February 1996

3« 10001996

15 March 1997

4« 15850y 1997

Question Number : 74 Question Id : 716447374 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When did India face a huge BoP (balance-of-payments) crisis. where foreign currency reserves fell down badly and

inflation soared rocket high, and then India felt the urge of globalisation?
POBEF0 I DB 0Dy Doew e HETFon adain BN T°55 JBOLd DO, &P HDoVEE L)

Fog0 ercodso wrdoder &rd BoP (2Boipw emjTdy) 2o&ardy ) ob?

Options:



1990

1. % 1990

1991

2. v 1991

1992

3 % 1992

1993

4. = 1993

Question Number : 75 Question Id : 716447375 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

As per the Industrial Policy Resolution of 1956, how many industries are included under “Schedule A™?

1956 >rBzE DD %@éaa 05°00, ‘DEFES A’ 306 DDy HBZRD DONITE0N?

Options:
1

L

1. = 15

16

7 %« 16

17

3.v 17



18

4 = 18

Question Number : 76 Question Id : 716447376 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following developed the ‘Hierarchy of Needs’ model?

80H06" T0rE), 5D DEN(WDVTV DOSVND) DFES IDD VDDA FTE?

Options:
Sarah Zeldman

1 » 0 BOITS

Chris Farrell

9 & (ERQITO

Neil Patel

3 x AO IO

Abraham Maslow

4 ¢ ORI SreF

Question Number : 77 Question Id : 716447377 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the term used for a short-sighted and inward-looking approach to marketing that focuses on the needs of the

company, instead of defining the company and its products in terms of the customers' needs and wants?

ER508 e9s530T7en 08050 FBEey Byals 0D DBEN TR Eaed 1eerdd B FDOTHRIVE 2xdentT,
HOY TWEY IOTOD IR V0T S8 ¢30050 & 5057 Sande HBW S'HOE E0T Vo

00 GITTROT HH0 Nede3?
Options:



Marketing bigotry

1 x SBye30R Surehed S0 (BEsd)

Marketing myopia

2 o 030N SHABFDAT

Marketing intolerance

7 &070) 830 a0 (o EPBRY)

Marketing bias

4. = 083300 HErS0 (2ATD)

Question Number : 78 Question Id : 716447378 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

As per Philip Kotler, which of the following eras does NOT exist in the history of marketing?

2OD 5 05280, 5578300 8|S &2 (8o Ao & Bew?
Options:
Marketing era

1 = 00300 aiwiio

Sales era

9w @5 Ao

Production era

IR Moo Wl



Distribution era

A ¢ Do ckniio

Question Number : 79 Question Id : 716447379 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

is a marketing strategy designed to foster customer loyalty, interaction and long-term engagement. It is
designed to develop strong connections with customers by providing them with information directly suited to their

needs and interests and by promoting open communication.

E0s500 NTADES, DEDYE 5B BN AYsOE AR ErTrR) DOTFOA0REIE ErsPoo RS
35°8,6300 Jresro . DATFEETEOZ 578 950070 BN 3OS TEm HEFTH
DAFTTTR)), BOAOTIRO T 507 0BG G0N D0eFNEID (86800 750" 788 O

D00 9Dy TOHENE 2O SrarododaGod.
Options:
Camaraderie marketing

1 = SENE S8, ¢300

Relationship marketing

9 o BBIS 2D 5Dy ¢30h

Bond marketing

3 x 208 rBy¢3on

Attachment marketing

4 x ©ErS08 &3y 3oh

Question Number : 80 Question Id : 716447380 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



characterises an industry in which many firms offer products or services that are similar, but not perfect

substitutes.

@8 DOVEN ST ted 1N BE® WO OBITON, TR DAY (HETesdr) Airen 5°Q)
DA 2.8 HOFD $0E80A.

Options:
Monopoly competition

1 x GSIBTHOS JEse%s %3 (SS9 52026318)

Oligopoly competition

9 % RNEONE HBAGTS ¢S (2O 502e3AS)

Pure competition

3k DI 2¥eS

Monopolistic competition

4 » HTOIS; S (FrSTOPS 570e338)

Question Number : 81 Question Id : 716447381 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is the first step in the consumer buying process?

1808 ¢3S AT Bre> Feoffen (HIEHES” Bwdded &% E?
Options:
Problem recognition

1.« D05 HBoY

Information search

9 % NS TG



Evwvaluation of alternatives

3y (T aire drersoddo

Purchase decision

4 = Shffen d@aho

Question Number : 82 Question Id : 716447382 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Distribution of free samples of a product is a method of which of the following marketing communication strategies?

85 80O 557834300 E05sBAS o557 A €oeh )8 By G SNTT O DoNES FresTo?
Options:
Personal selling

1 » 55%e evsg¥o

Direct marketing

9 & D558 S7By¢30n

Sales promotion

3 v BAIEO (DBTRA

Publicity

1 % 503

e’

Question Number : 83 Question Id : 716447383 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The products which have to necessarily be used with an accompanying product are called

G55 186 IENTT 5 )NEMT IR0 TTE) I toed e e00EFX.

Options:



by-products

1 = Cond-toehyen

captive products

2 v i}dejorﬁ{?ﬁajb} EONBOD

supplementary products

3 DO (HNZHOEE) toes yehven

auxiliary products

4 x OHOHE (efed) e yden

Question Number : 84 Question Id : 716447384 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following coined the term "marketing mix’?

80855¢3S’ ‘5578, ¢300 S5 @ DT DS EFroBoTTdd?

Options:
Pat Flynn

1 » IO

Chris Farrell

2 & (ERITVO

Neil H Borden

3 o VO TS EPS



Yanik Silver

4.« OS5 e 5D

Question Number : 85 Question Id : 716447385 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The extended 7 Ps of the marketing mix are

20°0),00) DoZao CIE), DO 7 Ps

Options:
people, process and price

1 = DN, FFRD SBoIL DD

product, process and physical evidence

I % Tag, o0 BoID DRES IDEY

people, price and physical evidence

3 % g, TR0 B DRES IDEY

people, process and physical evidence

4 DY, arD swboin Deaked DTy

Question Number : 86 Question Id : 716447386 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
The marketing strategy ‘Buy One, Get One’ comes under which of the following terms?

2,863 505, HTEES FoB0& T 583300 oJ75570 (80 250G ¢3S’ TR 80851 S N0E?
Options:
Direct marketing

1 % D58 S78¢300



Advertising

R oA

Publicity

3 HEe3

laa

Sales promotion

4. v ©NIFO (DI

Question Number : 87 Question Id : 716447387 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The term STP in marketing stands for

278),B00&5” STP &9 Do 20 DOV,

Options:
Segmenting, Targeting and Positioning

1 v 20300, erBedoh SHBain &re8adol

Selecting, Targeting and Positioning

9 % SZON, r3e30n 85w rB2NA0N

Segmenting. Targeting and Putting

3« DMOEON, ErBe30h SH8a5 30

Socialising, Targeting and Positioning

4 x UBB0N, Y300 HBA 32000

Question Number : 88 Question Id : 716447388 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which of the following refers to tailoring products and marketing programs to the needs and preferences of individual

customers?

208 TOS” D& SIS ST DVTLD BOIL FTPABOL RLETT GBIV BT a°0) Bof

DT Hurthy DOHTD) APDRH?
Options:
Nice Marketing

1. & 00V KBy e30h

Individual Marketing

9 o 9550¢b SrBye30h

Segment Marketing

3 % M0 &8y e300

Local Marketing

4 % V8 &r0ye30h

Question Number : 89 Question Id : 716447389 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A pricing strategy in which prices are kept very low to eliminate the competition from the market is called

S38365 0B 853 SeRodEE HEO&) Trer 8015 o A8 ity 903D,
Options:
Value Base Pricing

1 x O 2D 20D

Penetrating Pricing

7 x o300 2ok



Skimming Pricing

3 % 0ZaON [RVON

Predatory Pricing

4 o DTS (20N

Question Number : 90 Question Id : 716447390 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a characteristic of a service as a product?

808TE3S DE G IBT 205 VL), ©F 90 5°C0?
Options:
Inseparability

1« BEIHEDOS

Heterogeneity

% % DB SO

Perishability

3. & 2O

Tangibility

4. » D8N0 (6r08DDE)

Question Number : 91 Question Id : 716447391 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



The way that customers think about, or the way that a company wants customers to think about, a product in relation to

similar products or to competitors' products is one of the definitions of which of the following terms in marketing?

£ eS0T Deeso B EReNB 35 D0ISODS V5o, arETsds toch1e0e%d Ho0H0D)
S 3o b % HoDoB0D) 2.8 GBI Sr0e30RS & 8od Hrerdy IO 2.8

QS s250507
Options:
Ideation

1 x DS500806m (DETDAS)

Landscaping

9 % €508 VFON

Positioning

3 o FBAJOH

Reshaping

4 % ISTEYS (BRDOR)

Question Number : 92 Question Id : 716447392 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The practice of adjusting an item's sale price based on the location of the buyer is called

SN E) T3NE) TS0 T B0 5y €9:0280) B8 Heren T DB @0eErdD.

Options:
geographical pricing

1 » TTREES (BBrr3S | 20N)

discriminatory pricing

0 DBES B S (ARWTES |RVOA)



value base pricing

3 % e erd &Y

dynamic pricing

4. x BOeDS 0N

Question Number : 93 Question Id : 716447393 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the name of the pricing strategy in which a high introductory price is charged for an innovative product and

later on the price is reduced when more marketers enter the market with similar types of products?

DA;eh) et FH0o @HE (BrE088 S SIATeN T 0B 5BaTred DB 0B JFaHEien
203 G NOS 358308 |DFF0DINI B8 &7 BB S50 T daves?

Options:

Geographical pricing

1 x DL ES (BTBrES | oh)

Discriminatory pricing

7k DBES B S (BT (RR0F)

Penetrating pricing

3 % UDHETD SS(DIE2e300 | 2RoN)

Skimming pricing

4. » 0FON | 2000

Question Number : 94 Question Id : 716447394 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



When a firm markets one or more new variants of the same category of the product under an already established and

well-known brand name. this is called

2,8 H0D 2DIEIT TD0TIGS KA |HVY 2708 DA treh 1D e9:9¢00) 2.8 STRE TodS
2.5¢3 B @0530T) D803 S JEAHOEED 57838 TR, AR ©0EF .

Options:
line extension

1 » 208 TR0 (BS HEITOS)

brand extension

7 x 12708 FGHOY (AEYBVS)

multi-brand

3 % cﬁj@@?oé

new brand

4 » S&@zroh

Question Number : 95 Question Id : 716447395 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When the actual achievement of an employee is compared with the objective of the job. it is called:

EESeR AB0E) RS AP &l @8 508 815330, A 29Q) e0ETED.
Options:
On-the-job training

1 x 65638 2 (e85-6-e57e5 | RON)

Job performance

9 o GO HABS (25725 HTIBS))



Job design

3 x GO ErdEO)S (2785 GBS)

Job assessment

4 = GE5E 05T (258 e9R020¢5)

Question Number : 96 Question Id : 716447396 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a participant in industrial relations?

&e 180857¢3S 338|700 D005 D STE J3Ed?

Options:
Employer

1 % CHBSTD

Employees/Worker

9y CEsHen /585

Government

3 % QTS50

Recruitment Agents

4 o DOSTE DBoLY

Question Number : 97 Question Id : 716447397 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a duty of a Human Resource Manager?

1808 ¢3S 577569 S55B AT 55750 O SR IE?

Options:



1. =

Plan and coordinate an organisation's workforce.

2.8 Ho® ABE), (7708 48 (58 5 ) S SO0 $HBA e a0 Tohdo.

2. %

Act as a bridge between organisation's management with its employees.

HOD Ty A58 DO I HOZ s 2.8 QM S5500d%0.

Oversee an organisation’s recruitment.

3 x 28 00D dalrsA) HS5SE odko.

Prepare financial information and its audit.

4 o 893 08rmrdo HBahn o e & Do Tabo.

Question Number : 98 Question Id : 716447398 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a method of on-the-job training?

808 383 & &K 28 0 (68-O-25e5 [DDON) TBwEy HOB 5AE DE?
Options:
Delegation of authority

1 x @650 @H)F0d [ 23Eeron0

Internship

7w QOOTY AD



Apprenticeship

3 x 315080 (0B AD)

Management games

4. o OB55ea (Schew

Question Number : 99 Question Id : 716447399 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following ‘fundamental workers’ rights’ is NOT promoted by the International Labour Organization?

&3 (808 ¢35 & (TrONE 581500 5TE0) 00’ ©0ST S S8E DONT (85 ST OtHGED?
Options:
The right to organise in a trade union

1 x D& SRADNSS AS0R 5580y

The right to collective bargaining

9 & s Bdarorerdy E,

Protection from discrimination

3 % D98 ok 88

Elimination of prostitution

4. v 252280 Qb7

Question Number : 100 Question Id : 716447400 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following terms defines the process in which the representatives of a labor organisation and the
representatives of the business organisation meet and attempt to negotiate a contract or agreement, which specifies the

nature of employee-employer union relationship?

&5 808 HersS DO 568 HoD By 19BN HBAW TS HoD 1DSBAGEN e,
2,53000 Bz 200803 TS0 BEDOCVED (DCHE) T B A Gl sh-0HE3sR)

AOTCHS H022050 TNE) D 52Ty ADFVOE?
Options:
Cooperative bargaining

1. & S5 BEITED

Collective bargaining

7 ¢ rerE BSarTreD

Mutual bargaining

3 & D88 BEIrTED

United bargaining

4 x OOTB& (JDEs) BSrTTen

Question Number : 101 Question Id : 716447401 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is NOT a step in the process of collective bargaining?

T0rerE BETFTe (HEAHS 80& 73S A 2.8 &F 5°¢0?
Options:
The creation of trade union

1 o BB BTACNS T



The creation of the trade agreement

9y oTERRsS 20000 (DG @fiod) Bndy g

The interpretation of the agreement

2030090 C3VE), VG0 (@08 EI00)

The enforcement of the agreement

4 % D)I0N0 esen

Question Number : 102 Question Id : 716447402 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following is the main objective of performance appraisal?

308 70" DA HAED (bmﬁﬁéﬁs} e92265 O30E), V] VE[07

Options:
Facilitating promotion and salary increment decisions

1 v DTN SudaL BEre) oY) DHOITFOR ROBG0 B0

oy

Estimating future production plan

% u BDYD EOND DETPED 900> DOREo

Creating new job profiles

3 « §0 ey TSSO 08

Reducing employees’ cost

4 = eﬁému DAY Bhocseio

Question Number : 103 Question Id : 716447403 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following interview methods explains the intensive examination of a candidate’s background and thinking,

which also involves gathering considerable detail on a particular subject to special interest to the candidate?

800 @otxar DESOG” DO e925H dB0E); VDGO BT €IS WD GINL), ROBDD DOLID DIBR0E DBOTL

Q0i0e5” 23108 DS DS &) 8 DJY wosop (EIDOIRD TP DEBoEo EE 2MMEI0H?

Options:
Stress interview

1 % LD 2038753

Depth interview

7 o B ROLETSS

Solemnity interview

3 x FSW)E R0ET S8

Pressure interview

4 x B0 0SS

Question Number : 104 Question Id : 716447404 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following performance appraisal methods defines the process in which the appraiser or evaluator ranks the

employees from the best to the poorest on the basis of their overall performance?

B0 (89 2235) B 5308558 78 Bdo DS eTdomr GE55HeO DB o
6502058 U505 T 1DE0HD 1808 ) 0P8, 99 2SO HPEI DS sON0E?
Options:

Straight ranking method

1 « Do o50800 HOS



Paired comparison method

9 % 00T Foardad HPS

Forced distribution method

3 5 0. BRI HOS

Graphic rating scale method

4 x S B30 S HRS

Question Number : 105 Question Id : 716447405 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following terms of human resource management defines the measurement of the economic value of people

to the organisation?

B8 1808 $57095 59508 A 55789 DTS A HORB (236 830% Desdd EHEER) DS SIN0E?

L
Options:
Human resource viability

1 x ST BB Brehseh (Tge0S BT SOHEOES)

Human reserve account L]_'lg

2y e 0238 5 @F°0300 (Sursedd 8230 § @95 0e30h)

Human resource E!CCGllﬂtiﬂg

3 ¢ S S FT0E30N (g 8D, @5 0e30M)

Human resource bookkeeping

4 x 755 SS5Ked 218 SDOR (3050 BFB,) ens §DoM)

Question Number : 106 Question Id : 716447406 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which of the following organisations was set up as one-of-its-kind, public-private partnership company with the

primary mandate of catalysing the skills landscape in India?

POBEF0S” DEDEFFY SV Do DOED FADE VEFT 208 DoPUS” IO 2,8 DBEDOD, PSP

ZPILE0] RO JF0decod?
(o @
Options:
National Skill Expansion Corporation

1 = 30D 28 IS TS sTHBAS

National Skill Development Corporation

9 o BAO GO BIODIOD 5T IBAS

Indian Skill Development Corporation

3 x ROAADS 1O BIODDOE SFIBAS

National Proficiency Development Corporation

4 % SAJS RN BIOD0E] 5*FHBAS

Question Number : 107 Question Id : 716447407 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is not a component of the remuneration model?

808 ¢3S’ DO BINIIBAS BrSSS 2780 5°¢07?

Options:
Pay survey

1. = 2 008

Job hierarchy

9w TN rohody



Job evaluation

3 x & JTENLIDAS

Job design

4 o TS OBS

Question Number : 108 Question Id : 716447408 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When was the Trade Union Act enacted in India?

2rESBE0S TG CHArAANS HEO0 D)) eoen TANVGOE?

Options:
1926

1. v 1926

1927

2« 1927

1928

3. % 1928

1929

4. = 1929

Question Number : 109 Question Id : 716447409 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
Which of the following trainings uses a psychological technique in which intensive group discussion and interaction are

used to increase individual awareness of self and others?

Q505 XTI 8050 RSO 558568 @IS 20IERE QOB (K79 GILAS S8aAsw
R0LTE S GHTFrH0D (80O FE e DA $750E HPB GHIBTHD0E?



Options:
Simulation training

1 » @055 3E e (DSNFBAS TonOR)

Compassion training

9 5 36 359 (B0TAS (B00ODN)

Sensitivity training

3 o N BS s BE e (1D EES (Bowon)

Fellow feeling training

1« S8 erd 3En (DS DO (Bondof)

Question Number : 110 Question Id : 716447410 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The concept of Management by Objectives (MBO) was given by:

DoETe oo Ve (DrRSE) 065 B e583D) (MBO) 095 ePod ola) AN GREENATTAL

Options:
Dale Carnegie

1 = 3O s8N

Peter F. Drucker

5 o DEB ID. (5556

Chester Barnard

3.« TH6 207G



Richard L. Daft

4 x 038 5. &P

Question Number : 111 Question Id : 716447411 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

When was the Pavment of Wages Act enacted?

JebTred TOORY) BEO I ICH €950 TOHROE?

Options:
1933

1. = 1933

1934

7 % 1934

1935

3 % 1935

1936

4.« 1936

Question Number : 112 Question Id : 716447412 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the name of the process that involves identifying. analysing and determining the duties. responsibilities, skills,

abilities and work environment of a specific job?

2.8 A0 a0 BEE DCWEN, 25BN, TYETLEN, AFeNTTEED AN HA) T TTHET)
580150, DFN0TIG0 HB DPoawotscto $0e3 (HEAH E De3?

Options:
Job analysis

1 » G5 D3N



Job description

9y GE5H DS

Job evaluation

3 x GO Srersoddo

Job valuation

4 = GE5H TensBHAS

Question Number : 113 Question Id : 716447413 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following was one of the founders of the Madras Labour Union?

&5 1808 T8 Ae3B) DTN Bb CHIRONS H5STRES” 2,847
Options:
Bindeshwari Dubey

1 % DoD¥s8

Chaturanan Mishra

9 x VAT D7

Datta Samant

3 % OSToS

BP Wadia

4 « BP aordoir

Question Number : 114 Question Id : 716447414 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following is NOT a probability sampling method?

308 TPDES” DB VoEPOIT® PASADD DY S7C?

Options:
Simple random sampling

1 = FPOPR CIFEHIDNE DASODDO

Stratified random sampling

7 % kalela Qﬁ]“(ﬁag}gﬂ 2eIS0I0D0

Cluster random sampling

3 % 5200 Gi}“(fb&ﬂ:jé e300

Purposive sampling

4 v @ﬁbhb{egr‘%@cﬁsg} 200

Question Number : 115 Question Id : 716447415 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
In the survey. if all persons have an equal chance of being selected, then it is called:

LS, DFEIVOCH JoDEL VAT DT B0 E:08, INYD BDD €99 DeVArD.

Options:
Probability sampling

1 v R0ePID PBI0H0

Non-probability sampling

2 R0ePDIB0 DB



Purposive sampling

3 % éﬁgf&&(&@%ﬁ@ﬁsél 2E0I&0

Expert sampling

1 :DQ @Pﬁatﬁﬂlﬁ):ﬁﬂ

Question Number : 116 Question Id : 716447416 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the name of the sampling technique where the groups in the sample are proportional to the groups in the

population?

R0 DAPDReD, 2aeRS"D) DAL RS A0S 6Ry) DA DY DO DeH?

Options:
Haphazard sampling

1 x TG DAS0HD0

Quota sampling

7 o B Ao

Heterogeneity sampling

3 & OTEDI HASaDIO

Snowball sampling

4 = ﬁhﬂjﬂeﬁ 23030

Question Number : 117 Question Id : 716447417 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the name of the sampling method where a researcher chooses every sth person from the sample to conduct a
survey?

208 O] DOYToDTTDS 2,8 DOTGLED ST Dok YA 5 D D IR D PASODD DHS DA IDE?

Options:



Systematic sampling

1 v 5 DDSoDB0

Cluster random sampling

7 % 5206 Trocia DA

Purposive sampling

3 % DOYID DBODD0

Expert sampling

1 JJQ Qpn_atﬁﬂj)rﬁﬂ

Question Number : 118 Question 1d : 716447418 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What is the name of the sampling method in which the researcher identifies respondents who meet the criteria for

inclusion in the study and then asks them to recommend others who could meet the criteria to include in the study?

29C3[00D0S” BONTIS DATEFOL) 9ANDEROT &) DAT O DITSDHED (HBOD), 9P DS BONTTIS

DATFEFOLH VRADEOTF 62) BV VRO BODDD 9T DAV DES DM IDE?

Options:
Heterogeneity sampling

1. % PSR DA0DH0

Snowball sampling

2 o ﬁhﬂjﬂeﬁ 20e3I0IA0

Expert sampling

By = ..:J:_‘]Q @Pn_atﬁﬂj)éﬂ



Modal instance sampling

DS QR RSO0

4, =

Question Number : 119 Question Id : 716447419 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What are the two main parameters of a normal distribution that determine the shape and probabilities of the distribution?

D2T25cd TB0E) e3%)e3 BAW HO2F2e5e% AQONOT S e A3nEy Bod (D57

STTEaEAEN ale3?
Options:
Mean & mode

1. & 200 & & (Roed & ersruvto)

Mode & median

I« 2rE & sDADD (ersrovto & Doggicso)

Median & standard deviation

7 y EODS & Focf LD (EFovse & PJrarts HsvDdo)

Mean & standard deviation

4 o OO & F0cg GO (DUd & ZFrares Hoedo)

Question Number : 120 Question Id : 716447420 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The probability of occurrence of a single event is called:

2,3 DONEIS DOBNOT HO2Tsdehdd e90eTHD.

Options:
Marginal probability

1. v 8O dozradged



Conditional probability

7y S0GASS Hoeyedged

Prior probability

3 x (000D Doerds

Posterior probability

4 x RO HoerHdses

Question Number : 121 Question Id : 716447421 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The condition when the probability of some event is dependent on, or affected by, the occurrence of another or some

other event is called:

DB DOREIS TNEY 02T 5es EE Bror @evd DO TBNEY DOV &SN
B (D2FQS AN )¢ TR ©0EF&D.

Options:
Random variable

1. * T0H SEOH2ND

Joint probability

7w TaCh V02TV

Statistical dependence

3, TS H20BS)

Combined probability

4 % Loaing (S08D) Poerd)s



Question Number : 122 Question Id : 716447422 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

A graphical representation of possible outcome of a series of experiments and their resultant probabilities is called:

IDTrred 133 TBE) DOEre> TNEY (MHES S50 DO °¢3 HES HoeFd s

@oerd.
Options:
Probability tree

1 » 20O &3

Probability flow

7 % (O3 &F

Probability process

3 5 (DO VD

Probability ranking

4 x DO orsosoh

Question Number : 123 Question Id : 716447423 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the term that refers to the non-rejection of a false null hypothesis and is used within the context of hypothesis

testing?

5592650 F55 58503785 BEHLE0DENESTR) DFD0T HAO0 Dabed S8 HB8Ee3 HEE

H0SE0S” A GITrAOHDEEH0E?
Options:
Typel

1. = S|



Type II

3 o 85

Type I11

7 % 851

Type IV

4 x 85N

Question Number : 124 Question Id : 716447424 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What is the name of the survey that is conducted with few individuals of the target population or the sample of a survey,

in order to test and refine the survey instruments (questionnaire and instruction manual, data processing manual and

programs) before the main data collection across the target population or the full sample?

1D Ter EGZ 00 DTS THTID J0tHED) 27T B [0 T°0NO (|DF2 D0
S0B0IN QDI ES 58025, TT [ RNON 557085 s0BASW | Ten) HEE 0rdcEE SHBA5N
EHDDERDETRE, DoTHES) Barer CBE) FO 0B S:herd Sor DTS Bwé) Ssrrs

B 5300DS DT 5 B Da0eE3?
Options:
Cross-sectional survey

1 x 50 VEID OO

Pilot survey

9 o 208 TS

Longitudinal survey

3 % E“Gﬁ&lﬁé(iéej(aaj“oi‘} }i:ﬁrs



Experimental survey

4 x \D0rreded OO

Question Number : 125 Question 1d : 716447425 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What is the term used for a family of probability distribution - differentiated by their degrees of freedom - used to test a

number of difference hypotheses about variances, proportions and distributional goodness of fit?

RS DOV ¢ 50° INTADEG, TITEW, 9AATEFED sDAA HBT HBFFED D2rre3dd h3ow)
@08 Sgered HOEDINO HEE oBENE EHTITAOT DozFSed Nerassd Hoetnoao FBH

GHW/EROT HAO ebe3?
Options:
Chi-square distribution

1 v D050 B RTZAS

Poisson distribution

P00 ERQRIPED

Binomial distribution

ARATa (Brauoire) i;fége.m}ga‘%

Probability distribution

A ‘@o@;ﬁg@(,@“miﬁﬁ}&} CReTID

Question Number : 126 Question Id : 716447426 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Who among the following had developed the theory of ANOVA?

Sod o°8¢5° ANOVA gromrdy Jom @Dy e ?

Options:



I eonhard Euler

1 & OBFR 0b

Ronald Fisher

3 o O OO

Carl Friedrich Gauss

3 x 50 (DBOS R

Euclid. Born

4 x OrS&.erB)

Question Number : 127 Question Id : 716447427 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What will be the coefficient of variation for minimum value = 2, maximum value = 12, total = 40, mean = 10 and
standard deviation = 5?

£ Dewd = 2, (07 Dewd = 12, 2o = 40, DT = 10 BoIw el Doodo = 5 8o Do (hreto Jods?

Options:

Ln
o

1.+~ 50

60

3. % 45



4. = 30

Question Number : 128 Question Id : 716447428 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

According to the axioms of probability, what would be the probability of an event “A’ if 'B' denotes its complement?

?’aoe,}uajzge‘:e OBJJQZT ?0%3“0@“&) 25°00, 'B' 70 posaan iy A Doauedd OIDSET ‘rboa._jvs:}?sej DDE?
Options:
P(A)=1+P(B)

1.« P(A)=1+P(B)

P(A)=1/P(B)

9 « P(A)=1/P(B)

P(A)=1—-P(B)

3 o P(A)=1-P(B)

Question Number : 129 Question Id : 716447429 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Without replacing any card. if four cards are taken randomly from a deck of playing cards (52 Cards), then what is the

likelihood that all four cards are club cards?

2 5P 238 SobHor, P TmEw G (52 seden) Aol TrenrD Stden alrgyySore 3060063, Do FFeD
Soen Se5 SEhe 903 d5eF0 IDE?
Options:

0.001064

1. = 0.00164



0.00364

2 % 0.00364

0.00264

3. v 0.00264

0.00464

4. % 0.00464

Question Number : 130 Question Id : 716447430 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
A box contains 40 balls with numbers printed on them from 1 to 40. One ball is drawn at random. Find the probability

that it will be a multiple of 3 or 5?

2.8 DS 40 2006500 G 0w, TE3D 1 0G 40 5850 Hogen JNO0GETTOW. 2.8 2083

A5y 80T BoEtehod. B8 3 B 5 Hed0 eddhs D02 Sfbodk?
Options:

0:223

7 % 0.223

0.475

3. v 0475

0.678

A % 0.678

Question Number : 131 Question Id : 716447431 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which of the following is not an e-commerce platform?

808 ¢3S O B-5°08) T ¢Tar0 5°¢N?
Options:
Shopify

1. = Shopify

BigCommerce

? % BigCommerce

3decart

3. % 3dcart

Safari

4. « Safan

Question Number : 132 Question 1d : 716447432 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What is the full form of MICR, which is used in the banking industry?

erjodol DB endrhod MICR a30g); P 6o Da0ed?

Options:
Manageable Ink Character Recognition

1 » 0O A0S 575850 B3NS

Magnetic Ink Character Report

9 % M) e38 208 525080 B8Q



Magnetic Ink Charm Recognition

9 & ¢35 Q08 6 B5RLAS

Magnetic Ink Character Recognition

4. » 0°12¢385 208 575080 B8A1AS

Question Number : 133 Question Id : 716447433 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following protocols is used for encrypting the information so that the card details and all other sensitive

data can be protected?

52 DSTED S0BTD @A WS Y BT BT B8 0T RE DENT HATFTTTR,
HEB05ETA8 & 1808 |FE TS DA GHTrAOIRE0E?

Options:
SSL protocol

1 « SSLYs'=sS

TTL protocol

2 % TIL PR R3]

IMAP protocol

3« IMAP e&s'ses

POP protocol

4 » POPJ&=sS

Question Number : 134 Question Id : 716447434 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



What is the term used for a tunnel that connects your bank account to the platform where you need to transfer your

money?

2 21365 A TATO IS T ETTS8 Qb 275085 e NNOTAOT LS &H0 GHTBrAos

D0 D0e3?
Options:
Disbursement gateway

1. = &n"n}éﬁ:} 20085 T3

Imbursement gateway

Q0LIT ,)é,':"ﬁ [alAvS!

Payment postern

3« WR0E FRB

ol

Payment gateway

A v D008 1O

Question Number : 135 Question Id : 716447435 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In which of the following pricing strategies product prices continuously adjust - sometimes in a matter of minutes - in

response to real-time supply and demand?

BODES B0 HHOL SOOI EAFOELD PAVNOGIT & S0d GOV Qj"?s‘?.’}ﬁveﬁé o TG0 EBVD GO Eaﬁlﬂoga
DDEFL $6S” DCoBGo DEEFELD Dod?

Options:
Time line pricing

L « DSBS (RROR

Discriminatory pricing

7 % QRIS | 2VON



By product pricing

3. « BIESS (2RO

Dynamic pricing

4. v BOeDS |20

Question Number : 136 Question Id : 716447436 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

In computer science, what is the term used for a set of rules or procedures for transmitting data between electronic

devices, such as computers?

Lodrse8 S &, E0r:60 5063 D FIE HBET e S5 T (HTE0 BAHETRE Johssren

ST T DaDe3E IO D0 Jeé3?
Options:
Decorum

1. = @S0

Protocol

7 ¢ TS

Code of behaviour

3 x 556 D TTIHD

Etiquette

4 % e33O

Question Number : 137 Question Id : 716447437 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



Which online business model is being explained using the below two points:
e It links consumers to online merchants, online shopping malls and auction sites

e It helps users to collect information on an item for which they are searching and allows users to browse

independently-owned storefronts
BD® B0t PO0RRD EDIACD O DTN TR0 AR DDBOIITIN:

¢ 30 DACIFOT OOV 8T aﬁé.ﬁ“d}m, e2DTR araod aoreied BT Deo 5L LI

¢ O oD %ﬁ&“@ga; 28 ©90T02 VAW T R500IEEAS DDOLIFMOL DPALDESeE B0
Q(BOGOTT OIFRATAI0E° D '8 DotSorn 'S BoEmDS DIMFACFHORD 9R0DA0.

Options:
Portal business model

1 v CS DBTD IS

Store front business model

7« &6 (P06 DAV IS

Auction business model

3 % 850 DBTD It

Hybridge business model

1« TO6DRTR IS

Question Number : 138 Question Id : 716447438 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the minimum amount prescribed for RTGS transactions under retail internet banking?

8BS 2068 E 270800 80 e3028R e rTFBROE ATFD0DS €D Iko Dod?
Options:
Z 2 Lakh

1. v T205ew



¥ 5 Lakh

7 % I5o5ew

¥ 4 Lakh

3 % 405w

¥ 10 Lakh

4 % T1008e»

Question Number : 139 Question 1d : 716447439 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

What is the name of the system introduced by the Indian government that powers multiple bank accounts into a single
mobile application (of anv participating bank), merging several banking features, seamless fund routing & merchant

payments into one hood?

BTV EPJOLD) IO 28 ANHS BDIND (BT FED ered) &°8, 08 erjodoh DD, egotien G Dok
FOoh & 58 BPopHor 2.8 i’ DOHo B erced DO DOFTDHD DD DO DD0eH?

Options:
United Payments Interface (UPI)

1 x ONTBG W00 ROLTHD (ANDH)

Unified Payments Interface (UPI)

9 o GG R0 ) 0TIV (ASND)

Unified Pavments Line (UPL)

3 & COTADE DO BS (A0DIS)



Unified Disbursements Interface (UDI)

4 x GG EDEIR0E ) ROLTHD (C50E)

Question Number : 140 Question Id : 716447440 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following scientists is generally given credit as the inventor of the World Wide Web?

1808 T VBB TrBeor SED S& TeT TwE) SIS 568 |BHES 2S5 520805087?
Options:
Sergey Brin

1. » PREOS

Tim Berners-Lee

7 v B BEYBYO

Larry Page

3 = 8 e

Alan Turing

A % QO FsO0on

Question Number : 141 Question Id : 716447441 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following organisations has developed the BHIM app?

308 65 6 BHIM oird D D@ Do ?

Options:
National Payments Corporation of India

1 o KOS Doty SENTS & molosr



Indian Payments Corporation of India

7 % Q003N DRVOETY S8 TR0 B Qod.air

Global Payments Corporation of India

£38) Waodi 5° D0 833 QoC.COF
3Qﬁeﬁ"5 eﬁbﬁ“bé.%F ot

General Payments Corporation of India

2e00e) awotdy 20 O 90 Qodoir
4 = Sy

Question Number : 142 Question Id : 716447442 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The conceptual framework that describes functions of the networking or telecommunications system independently

from the underlying technology infrastructure is called:

T¢5558500 Bz BOZTATAS DV TwEs DD @058 AroBRE ST°OF Hoaraire

0G D550 BOMT QIBOTT Etad®e528 aedD) & @er Denard:
Options:
Open Organizations Interconnection

1 x &S SYBEAS) 2080 ETES

Exposed Systems Interconnection

9 % 05) %% VP ROGE ETES

Open Systems Interlinking

3 x LS VRDY ¥0e5O080H

Open Systems Interconnection

4 v &S PN BOLD ETES



Question Number : 143 Question Id : 716447443 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Under normal circumstances, when does the beneficiary get the credit for an RTGS payment?

D& HBVSvOS, DTS RTGS BO0D) e 236 (1IBBED) e9:9e50085?
Options:
Real time

1 o 80HS B

12 Hours

2 % 12 fotren

2 Working days

2 % 20 OTED

& Hours

4. % 6 fjoeden

Question Number : 144 Question Id : 716447444 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is not a web browser?

1808 73S’ DO IS5 (2575 5°¢0?

Options:
UC Browser

1. =« UC2&D

Mozilla Firefox

2 x WS 20 5



Google

4 v HO

Question Number : 145 Question Id : 716447445 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
What is the term used for an organisation that accepts card payments by acting as a link between merchants. issuers and

payment networks?

Togarden, 238 Een (205 )) 805N TBDoD) TERE, 838 Q0BT S5d580t3¢%0 o 5o
520 BOoHOE @oHEB0T HoREL GHTIFROT HA0 DEI?

Options:
Treasurer

1 x STES6 (Redd)

Bookkeeper

7 % 205 80

Acquirers

3 o e0dden

Bursar

4 = 28,0

Question Number : 146 Question Id : 716447446 Question Type: MCQ Option Shuffling: Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66



What is the name of the process of replacing sensitive data with unique identification symbols that retain all the

essential information about the data without compromising its security?

231856850 0728 HBOTE @508 ZS TeEF DATrtrorR)) OB GOT R T TEredd (DSB8 Fod
HB05y DI O 258 TR DBH Ty DK e,

Options:
Recurring

1. = ©Dye (8880N)

Verification

9 % D3 (IODBASI)

Tokenisation

3 o OS32AS

Clearing

4 = Sah8oh

Question Number : 147 Question Id : 716447447 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

Which of the following is a type of credit card theft where crooks use a small device to steal credit card information in

an otherwise legitimate credit or debit card transaction?

BAEO 570 ST Sofotim8 (506 @ 2.8 D& H8507A)) &H33rAod T 3G 50
E0%58550 B 9L BAHE S BAES 525 erarBaen e &8 (808 e3¢5 B o 5o

20T ?
Options:
Card gliding

1 » SQO&OR



Card skimming

9 o 5 30N

Card flying

3« 59 Powoh

Card flick through

A % 50 D8 o> 5o

Question Number : 148 Question Id : 716447448 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66
As per the recent announcement by RBI, from which the following dates the NEFT transactions are now allowed to be

done even after the usuval banking hours by using 'Straight Through Processing (STP)' modes by the bank?

RBI 20 D500 5700, & D @A Bdees® J B Mol erjoh "Paxds @r JFromeh (STP) ardedn
eD03Rocicto TP Jorocs ergodoh 0D DaVaIre Borge Srce NEFT ePTPOINLD OIS 90N SohH?

Options:
26 January 2019

1. % 26 225208 2019

16 December 2019

7 o 16 Eoed 2019

15 November 2019

3 % 15 dad0e5 2019

12 October 2019

A x 12 oF06 2019

Question Number : 149 Question 1d : 716447449 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3



Correct Marks: 2 Wrong Marks: 0.66
Which of the following are the parts of an IP address?

2080 T70S° IP 9ED g arTren JD?

Options:
Grid part and host part

1 » B& ario Hdak Uy artio

Network part and host part

7 o TEINB) 2o B IR 20

Network part and cloud part

3 x SODDY 2o HOAW 6 2rio

Net part and congregation part

4. % e aro sudoiw STl eriio

Question Number : 150 Question Id : 716447450 Question Type: MCQ Option Shuffling : Yes Negative Marks Display Text : 2/3
Correct Marks: 2 Wrong Marks: 0.66

The address that is usually represented in dotted decimal notation and where each decimal value represents the four

octets (bytes) is called:

TR0 TG BRNO TTAS S QoI SHOCM 1D G70F Dewsd e e

(2380) HFrDOT @R A ¥eT DeNH:
Options:
IPv3 address

1. = IPv3 &

IPv4 address

2 IPvd ogo



IPv2 address

IPvZ eaged

IPv1 address

IPvl o0



